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Mark schemes are prepared by the Principal Examiner and considered, together with the 
relevant questions, by a panel of subject teachers.  This mark scheme includes any 
amendments made at the standardisation meeting attended by all examiners and is the scheme 
which was used by them in this examination.  The standardisation meeting ensures that the 
mark scheme covers the candidates� responses to questions and that every examiner 
understands and applies it in the same correct way.  As preparation for the standardisation 
meeting each examiner analyses a number of candidates� scripts: alternative answers not 
already covered by the mark scheme are discussed at the meeting and legislated for.  If, after 
this meeting, examiners encounter unusual answers which have not been discussed at the 
meeting they are required to refer these to the Principal Examiner.   

It must be stressed that a mark scheme is a working document, in many cases further 
developed and expanded on the basis of candidates� reactions to a particular paper.  
Assumptions about future mark schemes on the basis of one year�s document should be 
avoided; whilst the guiding principles of assessment remain constant, details will change, 
depending on the content of a particular examination paper.  
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Unit 1 
 

Criteria for Assessment 
 
The assessment objectives will be allocated in the following way. 
 

  % of 
AS Marks 

A02 
A03 
A04 

Response to written language 
Knowledge of grammar 
Knowledge of society 

65 
25 
10 

65 
25 
10 

 TOTAL 100 100 
 
The marks will be allocated in the following way. 

 
 A02 A03 A04 
Section 1 
Section 2 
Section 3 

27 
15 
23 

10 
 

15 

3 
 
7 
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Section 1 

Question Accept Marks 
a 
 
 
b 
 
 
 
c 
 
 
 
d 
 
e 
 
 
 
f 
 
g 
 
h 
 
i 
 
 
j 
 
 
k 
 
 
 
 
l 
 
 

m 
 
 
n 
 
 
o 
 

Uniwersytet przeprowadzi\ badania wśród m\odziexy, (uczniów w 
wieku12 - 18 lat), nad ilościq czasu spvdzanego w internecie. 
 
8% ankietowanych spvdza ponad 20 godzin tygodniowo w internecie, 
najczvsciej korzystajq z chatów, ale równiex przeglqdajq strony 
erotyczne. 
 
Osoby uzalexnione od internetu przestajq kontrolować czas, majq, 
problemy w kontaktach mivdzyludzkich, opuszczaja siv w nauce, tracq 
kontakt z rodzinq. 
 
W firmie ojca zrodzi\a siv Konrada fascynacja komputerami. 
 
Kupi\ mu computer gdy mia\ 7 lat / pozwala\ mu spvdzać przy 
komputerze duxo czasu bo uwaxal, xe komputery / informatyka to 
przysz\ość. 
 
Najpierw by\y gry i artyku\y na temat komputerów. 
 
Jak mia\ 13 lat pierwszy raz us\ysza\ o internecie. 
 
Ogranicza\y go koszty. 
 
W szkole by\o sta\e \qcze i móg\ spedzać na internecie tyle czasu ile 
chcia\. 
 
Spvdza\ minimum 5 godzin dziennie i ca\e weekendy. Fascynowa\a go 
moxliwość rozmowy. 
 
Internet dawa\ moxliwość publikacji swoich prac domowych, 
tworzenie w\asnych stron, handel na aukcjach prowadzonych w sieci, 
kontakt e-mailowy / nawiqzywanie kontaktu z ludzmi nie tylko z 
Polski, ale i z zagranicy. 
 
By\ niewyspany cierpia\ na bόle g\owy / by\ chudy z zapadnivtq klatkq 
piersiowq. 
 
Kiedy zauwaxyl, xe woli\ spvdzać czas przed komputerem nix z 
dziewczynq. 
 
Rodzice byli niezadowoleni, twierdzili, xe izoluje siv od rodziny, nie 
bierze aktywnego udzia\u w xyciu domu. 
 

Kaxda wypowiedź odpowiadajqca na pytanie - wyraxajqca osobisty 
poglqd ucznia jak dosz\o do sytuacji opisanej w artykule i kto jest za to 
odpowiedzialny, bvdzie uznana za poprawnq. 

 
 
1 
 
 
 
3 
 
 
 
4 
 
1 
 
 
 
2 
 
2 
 
1 
 
1 
 
2 
 
 
2 
 
 
 
 
3 
 
 
2 
 
1 
 
 
2 
 
 
 
3 

 Total 30 
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Marks Knowledge of Grammar (AO3) 

0-2 Shows little or no grasp of grammatical structure.  
Errors are such that communication is seriously 
impaired. 

3-4 The level of manipulation of structures and the 
number of errors make comprehension difficult. 

5-6 There is some awareness of structure.  There are 
still basic errors but communication is generally 
maintained. 

7-8 The manipulation of basic structures is generally 
sound.  There are attempts to use more complex 
structures, but not always successfully. 

9-10 The knowledge and use of most structures is good.  
There are still some inaccuracies but these are 
usually in attempts at more complex structures. 

 
Total for Section 1 = 40 marks 
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Section 2 
 
For the translation, the following criteria will be used. 
 

Marks Response to Written Language (A02) 
0-1 Little or nothing of merit. 
2-4 Shows poor understanding of the original and translated in a language 

that has a very limited range of vocabulary.  Errors in spelling, 
punctuation and grammar impede comprehension. 

5-7 Shows satisfactory understanding of the original and translated in a 
language that has a limited range of vocabulary.  Errors in spelling 
punctuation and grammar are intrusive and affect comprehension. 

8-11 Shows good understanding of the original and translated in a language 
that has a wide range of vocabulary.  Accurate, with only a few minor 
errors in spelling, punctuation and grammar. 

12-15 Very good understanding of the original and translated accurately in 
language that has a wide range of vocabulary.  Excellent spelling, 
punctuation and grammar. 

 
Total for Section 2 = 15 marks 

 

Section 3 

 

Marks Knowledge of Grammar (A03) 

0-2 
 
 

3-5 
 
 

6-8 
 
 

9-12 
 
 

13-15 

Shows very limited grasp of grammatical structure.  Errors are such 
that communication is seriously impaired. 
 

The level of manipulation of structures and the number of errors make 
comprehension difficult. 
 

There is some awareness of structure.  There are still basic errors but 
communication is generally maintained. 
 

The manipulation of basic structures is generally sound.  There are 
attempts to use more complex structures, but not always successfully. 
 

The knowledge and use of most structures is good.  There are still some 
inaccuracies, but these are usually in attempts at more complex 
structures. 
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Marks Knowledge/Response/Reaction (A02/A04) 
0-5 

 
 

6-12 
 
 

13-18 
 
 
 

19-24 
 
 

25-30 

There is little or nothing of relevance.  A zero score will automatically 
result in zero for the question as a whole. 
 
A limited number of points made, many of which are vague or 
irrelevant.  No justification for points made. 
 
Some relevant points are made, ideas are not clearly organised.  Some 
reaction is evident, but points made are not always justified or 
illustrated.  The answer generally lacks a clear focus. 
 
The answer is generally on the subject with a number of relevant 
points, but not always appropriately supported. 
 
Relevant points are clearly made.  The answer is focused on the 
question and offers ideas which are logically and clearly developed.  
Good personal reaction, usually justified. 

 
Total for Section 3 = 45 marks 

 
Total for Unit 1 = 100 marks 

 
 
 


